A" XS

1000 N E = A(507E)

W

663 318
+256 +653
136 763
+155 +107
499 267
+438 + 82
225 157
+722 + 62
536 564
+371 +108
72 347
+343 +353
44 206
+199 +353

264

+626

590
+ 65

+565

83
+839

181
+179

412
+506

427
+192

652
+327

796
+141

16
+489

426
+139

27
+852

156
+381

51
+76

259
+ 28

H#:

70
+870

116
+392

76
+643

162
+807

137
+627

318
+317

389
+349
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94
+552

738
+ 63

270
+199

467
+174

752
+ 53

640
+168

166
+285

éi\

Y8

+24

27
+296

164
+ 79

844
+ 54

273
+235

52
+47

30
+379
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